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image6.png
10 Here are three lamps.

lamp A lamp B lamp €
Lamp A flashes every 20 seconds.
Lamp B ashes every 45 seconds,
Lamp C flashes every 120 seconds.

‘The thee lamps sart flashing at the same tin.
How many imes in one hour il th thrce lamps flash at the same time?
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“The vianing pol i epry:
T vaming poo i S vih vats st coneaa e f 0 s per e,

(8 Wk ot o g it will ke S th sisin pool e commplately fll of e
Gire you amsverm o
(L= 1000 )
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‘Here are four graphs.

) Wi dovn h e o e grgs hat s s o e dephof e ater n e .
abore i ine MY changes ith fme 2 o poolis Slled.

(CTutal fo Quesion 13156 mark)
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6 Sus s riving home from her friend's bouse.

Sue dves
10 sl o e Siend's B o he motorvay
240 sleson he motorvay
S s rom e morervay o ber howe
Sue

ks 20 mmtes t v froms B fin's owse 0 the motervy
drves a1 an average speed of 60 mph on the motervay
ok 25 mimutes o v from e motary fo B hese

e stops for 2 30 mimute rest o he dive home.

S Laves e Siend's Bous 5£9.00 .

Wt e doss Sue gathome?
You must show all you working.

(Total for Question 615 3 marks)
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17 Sumeet has a pond in the shape of a prism.

1am]

The pond s compleely ful of water.

St wanks o copey e pond 3 b can clea it
Sumeetuses  ump 0 eyt oo

The volum of watr i the pond decrass 1 constant e

The vel of the waer i the pod gcs down by 20 e st 30 i

(Total for Question 17 is 6 marks)
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6 Tame Vlley s 3 ompany tht makes yoghur.

A machie s rays of 20 pots with yoghut
onehow, the machine 3 ot of 15000 poss.

Work ot How may seonds the machine akes ol each ay of 20 ot

ssconds
(Tota for Question 6 s 4 marks)
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8 Teums leve Picadily
o Eccles every 9 mimtes
o Didsbury every 12 minses
Atram o el and  tram 0 Dby b v Piccdily 19 am.

A whst e will  ram o Eles ad s to Dby nt lsve Piadily
e e me?

(Totsfor Question 8 s 3 marks)
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Smies 25wl
o——o——o
a 3 2

4, B and C are 3 service satons on a motonway.

45 =25 mies
BC=25miles

Apsha drivs aong the motorway from A 10 C

Aysha drivs at an average specd of SO mph from A t 5.
She drves t an sersge speed o 60 mph from & o C.

Wrk out the diference in the tme Aysha akes 0 drive from A 1 8 and he time Aysba,

{akes o drive from B 1o C.
Give your answes in minuics.

(Total for Question S1s 3 marks)
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7 Buses to Acton leave 3 bus station every 24 minutes.
B fo Barion eav the sme s o every 20 minus.

A bus 0 Acon ad  bus o Baton both lsvethe bus sation t 9003,
When il b 0 Actn and 3 bus 0 Barton next aveth bus sation st the sam ime?

(Total for Question 7 s 3 marks)
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2 Slough
E o Guikdford

0 2 I Ostord
s 2 5 25

“The table gives distances n miles by road between some towns.

Lzzy lves in Oxford.
She has 1o drive to & meeting in Buckingham and then from Buckingham to Reading.
10 pick up a fiend.

Afier she picks up her frend she will rive back to Oxford.

She plans to drive at  speed of S0 miles per hous.

‘The meeting willlast 3 hours, including lunch

She leaves Oxford at 9 am.

Work outthe time at which she should get back to Oxford.

(Total 4 marks)
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Aclock chimes every 20 minutes.
Alight flashes every 8 minutes.
The clock chimes and the light flashes together at 08:00.

How many times between 08:01 and 12:30 will the clock chime and the light flash together?
‘Show your working.
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4 Abus timetable shows the following information.
+ Abus following route T leaves for the train station every 20 minutes.
+ Abus following route A leaves for the airport every 18 minutes.
+ Abus following route T and a bus following route A both leave at 8.37 am.

(a) When is the next time one of each bus is timetabled to leave at the same time?

(@
(b) Write down one assumption that was necessary to solve this problem.
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9 Alexander, Reiner and Wim each watch a different film.
« Alexander's film is thirty minutes longer than Wim's film.
« Reiner's film is twice as long as Wim's film.
* Altogether the films last 390 minutes.

How long is each of their fims?

Alexander's fim ......

Reiner's fim ......

Wim's film....

141
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21

Priya and Joe travel the same 16.8 km route.
Priya starts at 9.00 am and walks at a constant speed of 6 km/h
Joe starts at 9.30 am and runs at a constant speed.

Joe overtakes Priya at 10.20 am

At what time does Joe finish the route?

15 marks]
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15 machines work at the same rate.
‘Together, the 15 machines can complete an order in 8 hours.

3 of the machines break down after working for 6 hours.
‘The other machines carry on working unti the order is complete.
In total, how many hours does each of the other machines work?

13 marks]
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12 ‘The distance by road from Newport to London is 140 miles.

Tom travels by coach from Newport to London.
The coach leaves Newport at 1.30 pm

12 (a)  He assumes the coach will ravel at an average speed of 50 mph
Use his assumption to work out the arrival time in London.

13 marks]

12 (b)  Infact, the coach has a lower average speed.
How does this affect the arrival time?

11 mark]
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17 Tocomplete a task in 15 days a company needs
4 people each working for 8 hours per day.

‘The company decides to have
5 people each working for & hours per day.
Assume that each person works at the same rate.
17 (a)  How many days willthe task take to complete?

‘You must show your working. P
m

17 (b) Comment on how the assumption affects your answer to part (a).
11 mark]
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19 Aot air balloon is descending.
The height ofth balloon n mimutes ater it tars o descend i , metres.

The height ofthe balloon (1) minates e it stats f descend, ,, metres, i givenby

The balloon stars to descend from  beight of 1200 metres 3t 0915
L0916 the height of the balloon s 1040 matrs.

Work out the height ofthe balloon 2t 0915
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2 Andy cycles a distance of 30 km at an average speed of 24 km/h.
He then runs a distance of 12 km at an average speed of $ knn/h.

‘Work out the total time Andy takes.
Give your answer in hours and minutes.

(Total for Question 2 is 3 marks)
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11 In May 2019, the distance between Earth and Mars was 3.9 107 k.

In May 2019, a signal was sent from Earth to Mars.
‘Assuming that the signal sent from Earth to Mars travelled at a speed of 3 X 10k per second,

(@) how long did the signal take to get to Mars?

“The speed of the signal sent from Earth to Mars in May 2019 was actually less than
3% 10°kam per second.

(b) How will this afect your answer to part (3)?
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4 It would take 120 minutes to fill a swimming pool using water from 5 taps.
(@) How many minutes will it take to fill the pool if only 3 of the taps are used?

[0

(Total for Question 4 is 3 marks)
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5 Larais a skier.
‘Sthe completeda skirice i | minute 54 ssconds.
The race was 475min length.
Lara assumes that her average specd i the same fo cach race.

(a) Using this assumption, work out how long Lara should take to complete  7001m ace
Give your snswer in minutes and econds.

Lar'saverage speed sctually inressesthe further she goss.
(6) How docs this affct your answer to par 012

(ot for Question §is 4 marks)




